Lesson 12 ERHZDUL\TERBAT S

We have a seating charge.

Conversation
Customer : This looks very cheap. How much is the all-you-can-drink course?
Waiter : For one hour it’s 1000 yen, for two hours it will come to 1800 yen.
Customer : And is there a table charge?
Waiter : We have a seating charge of 500 yen.
Customer : | knew there was a catch! Can you calculate how much the bill will amount to with
the seating charge please?
Waiter : Two hours all-you-can-drink plus seating charge,
will come to 4600 yen.
Customer : Mmm... Not so expensive.
Waiter : In addition to this, each customer must
order two dishes.
Customer : | see. It all adds up in the end though, doesn’t it.

Well, it’s still a decent price for two hours.
Ok, we’ll take a seat.
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Language Focus

We have a table charge. T—INFr—UENIEETS,

There is a small table charge. DLT—TNFr—VEV1EET,

We have a table charge in place. T—INTFr—VENLIZEET,

There is no table charge. T=ILFr—VRWEEERA.

There is no service or table charge. Y—ERROT—INFr—TRVIEERA,
The table charge is %. T—ILFH—IlE~%TY,

All customers must order 2 dishes. ETOHERIT2EEXL TV ENGITAIEGYER A
This is the total cost yen. B T~ATY.

It will come to yen. &t T~ATY,

It’s about yen. ~ACBHNTT,

It usually comes to yen. BE.&FHT~ATY.

Vocabulary and Pronunciation Practice

comes to

amount

how much
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Lesson 12
We have a seating charge.

Listen to the following conversations. Is there any extra charges?

Conversation 1:

Conversation 2:

Conversation 3:

Conversation 4:

Conversation 5:

Practice s ~
Match the definitions to the words on the right. a. cost

1. to amount to, total b. service charge

2. costing very little, relatively low in price, inexpensive c. table charge

3. to determine mathematical methods, to compute d. in addition to

4, as well as, plus e. calculate

5. a fee charged for a service f. cometo

6. finally, at last, after all g. price

7. any tricky, concealed drawback h. acatch

8. the sum of money which anything is sold i. decent

9. the price paid to acquire anything j. intheend

10. adequate, fair, passable k. cheap

11. a fee charged for eating in an establishment \ j
Listening

Roleplay: Use the following information.

Is there a table charge?/ There is a small table charge

This is the final price?/ That’s right, no service or table charge
What is this fee here?/ That’s the service charge

S

catch!
6. Any additional charges?/ No, this is the final price.

How much for this course for two hours?/ 1,500 yen, plus service charge
For this course we have an additional service charge/ | knew there was some
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Conversation HAFEER
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Listening Conversations:

Conversation 1:
Waiter : If you are dining in there is an additional seating charge. Is this ok?
Customer : Yes, that will be fine.

Conversation 2:

Customer : How much for the all-you-can-eat course?

Waiter : The all-you-can-eat course is here on the menu, in addition there will also be a service
charge. Plus this amount here.

Conversation 3:

Waiter : Our all-you-can-drink course for two hours is the cheapest. And we have no extra table
or service charge!
Customer : Great, we’d like a table for four please.

Conversation 4:
Customer : What's this charge written on the bill here?
Waiter : That is our service charge. It's 10% of the total bill.

Conversation 5:

Waiter : We have no table charge but you must order three dishes each if you chose this course.

Customer : | see, well that’s very reasonable.
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